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7. Select the Venn diagram that best

represents the given set of classes.
Words, Synonyms, Antonymous
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1-Freeze
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3-Fryer
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(D) kiikmkkik

Answer: C
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gRafdd &= fear v, ar fF=faRaa &
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(A) 10-6x2+12=8
(B) 8-4x4+12=12

() 12 6+6-12=9
(D) 6x4+6-4=18



Answer: B
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(A) 155
(B) 93
(C) 217
(D) 266

Answer: C
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(A) 2,5 1,6, 4,3,
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(c) 4, 3,5, 2, 6,

(D) 1,2, 6,5, 4, 3,

Answer: A
14. 39 TE&AT &1 IIT FL 3T Aoff & ged
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(A) 73

(B) 81
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Answer: C
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1,2,10, 37,7, 226
(A) 89
(B) 73
(C) 98
(D) 101

Answer: D
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(D) freeet | ;k 11 vulj.k djrk gA

Answer: B
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(A) 112

(B) 121

(C) 74
(D) 60
Answer: C
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frdY atg AT ¢ 3R UF WA ;& 39 HAAT
e FT TIT FI

(A) T
(B) ey
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(D) dTeT

Answer: C
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(A) 53:378
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Answer: D
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(A) INQS
(B) RSTU

(C) TVXZ
(D) ADGJ

Answer: A
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frelY g gAT & IR vw WA § | 39
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(A) wfrar
() TAT

()
(D) 3rhYeRT

Answer: C

23. 39 RFeq #1999 &1, s @i aeg
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(A) e
(B) wHI
() g3
(D) efadE@  (Lynx)

Answer: B

24. 39 fAFeT FT 9T FY, A AW FEIT @
TEell HEAT ¥ FafT § |
100 : 1010 : 11 : ?
(A) 1342
(B) 1320
(@) 132
(D) 131

Answer: A

25. 39 foFaq &1 994 &Y, et i ug
VTN FUE, G T H e T A & |
JUST : : IWPX : : AWAY : ?
(A) AAYW
(B) ZYXC

(C) WYAA
(D) AYWC

Answer: B

26. We must understand that people can
process very little information presented orally.
So, it is(1)____Particularly for a teacher, to
realise that the students have sometimes
listened to three or four teachers (2)___you. So
the teacher must have props like notes handouts
and slides that will make the learning
material(3)___alive for the students and stay
that way with them. A visual aid, a little
movement or colour will get the students’
attention. Another important thing to (4)___is
that long, complicated sentences spoken fast are
simply too difficult for students to

Select the most appropriate option to fill in blank
number 1

(A) Unnecessary
(B) Important

(C) Immaterial

(D) Urgent
Answer: B
27. We must understand that people can

process very little information presented orally.
So, it is(1) Particularly for a teacher, to
realise that the students have sometimes
listened to three or four teachers (2) you. So
the teacher must have props like notes handouts
and slides that will make the learning
material(3)___alive for the students and stay
that way with them. A visual aid, a little
movement or colour will get the students’
attention. Another important thing to (4)_is
that long, complicated sentences spoken fast are
simply too difficult for students to
understand. It is therfor,(5) ___ to use short
sentences that make sense to them instantly.

Select the most appropriate option to fill in blank2
(A) Behind
(B) Beside
(C) After

(D) Before

Answer: D
28. We must understand that people can
process very little information presented orally.



So, itis(1)___ Particularly for a teacher, to
realise that the students have sometimes
listened to three or four teachers (2)___you. So
the teacher must have props like notes handouts
and slides that will make the learning
material(3)___alive for the students and stay
that way with them. A visual aid, a little
movement or colour will get the students’
attention. Another important thing to (4)___is
that long, complicated sentences spoken fast are
simply too difficult for students to
understand. It is therfor,(5)____ to use short
sentences that make sense to them instantly.

Select the most appropriate option to fill in blank
number3

(A) Be
(B) Stay
(C) Go

(D) Come

Answer: D

29. We must understand that people can
process very little information presented orally.
So, itis(1)____Particularly for a teacher, to
realise that the students have sometimes
listened to three or four teachers (2)____you. So
the teacher must have props like notes handouts
and slides that will make the learning
material(3)___alive for the students and stay
that way with them. A visual aid, a little
movement or colour will get the students’
attention. Another important thing to (4)___is
that long, complicated sentences spoken fast are
simply too difficult for students to
understand. It is therfor,(5) ___ to use short
sentences that make sense to them instantly.

Select the most appropriate option to fill in blank
number4

(A) Determine

(B) Decide
(C) Guess
(D) Realise
Answer: D
30. We must understand that people can
process very little information presented orally.
So, itis(1) Particularly for a teacher, to

realise that the students have sometimes
listened to three or four teachers (2) you. So
the teacher must have props like notes handouts

and slides that will make the learning
material(3)___alive for the students and stay
that way with them. A visual aid, a little
movement or colour will get the students’
attention. Another important thing to (4)___is
that long, complicated sentences spoken fast are
simply too difficult for students to
understand. It is therfor,(5)____ to use short
sentences that make sense to them instantly.

Select the most appropriate option to fill in blank
number>5.

(A) Mandatory
(B) Critical
(C) Compulsory

(D) Advisable

Answer: D
31. Select the most appropriate antonym of the
given word.
CONCLUSIVE

(A)  Ambiguous

(B)  Clear

(C)  Undeniable

(D)  Decisive

Answer: A
32. Select the most appropriate ANTONYM of
the given word.
Augment

(A) Extend

(B) Diminish

(C) Spread

(D) Expand

Answer: B
33. Select the most appropriate meaning of
the given idiom
Be at a loss for words
(A) Not know what to say
(B) Not aware of the language
(C) Habituated to using difficult words
(D) Lost the urge to speak

Answer: A
34. Select the most appropriate
meaning of the given idiom.
Four corners of the earth
(A) From beginning to end
(B) From the very beginning
(C)  From morning till night
(D) From all parts of the world



Answer: d
35. Identify the segment in the sentence, which
contains the grammatical error.

Instead of studying in home | went to my friend’s
house.

(A)  inhome

(B) Ilwent

(C)  instead of studying
(D)  to my friend’s house.

Answer: A
36. In the sentence identify the segment

which contains the grammatical error.
Every employee of the company were
given a two bedroom flat as Diwali bonus.
(A) a two bedroom flat
(B) as Diwali bonus
(C) Every employee
(D) were given

Answer: D
37. He said, "Let the sweets be distributed
among the children”

(A) He said to let the sweets be
distributed among the children

(B) He told to let the sweets be
distributed among the children

(@] He proposed to let the sweets be
distributed among the children

(D) He proposed that the sweets should
be distributed among the children

Answer: D
38. Select the word which means the

same as the group of words given.
A fictitious name used by an author
(A)  homonym
(B)  alibi
(C) pesudonym
(D) anonymous

Answer: C
39. Select the most appropriate one-word
substitution for the given group of words.

The act of thinking now about something in the past

(A) Introspection
(B) Circumspection
(C) Retrospection

(D) Inspection

Answer: C
40. Sentences of a paragraph are given below

in jumbled order. Arrange the sentences in
the right order to form a meaningful and
coherent paragraph.

A. 1 was shocked to find my house unlocked.

B. To my astonishment, | found that my son, who

had a spare key, had come in my absence.

C. Last Sunday | returned home late at night.

D. I ran inside in fear that my house has been

robbed.
(A) CDAB (B) BCDA
(C) CADB (D) ABCD

Answer: C
41. Given below are four jumbled sentences.
Out of the given options, select the one that given
their correct order.

A. | saw a middle-aged man sitting beneath the tree
with his knees drawn up to his chest.

B. When | was a street away from my house, | saw
a huge banyan tree to my right.

C. My heart went out to him as he was crying
bitterly.

D. His head was bowed and his body was shivering
continuously.

(A) BADC (B) ACDB
() ADBC (D) BDCA

Answer: A

42, Select the most appropriate option to
substitute the underlined segment in the
given sentence. If no substitution is required,
select ‘No substitution required’.

Hears to the news tonight at 9 p.m., as there
will be an important announcement about
the budget.

(A) Listened to

(B) Hearto

(C) No substitution required
(D) Listen to

Answer: D
43, Substitute the jtalicised part of the



sentences Every human advance carries with it not
only automatic benefits but also a new
responsibility,and we must remain constantly aware
for the dangers that lie in the possible misuse of our
enormous skills.

(A) awere about

(B) aware of

(C) awareto

(D) No improvement

Answer: B
44, SYNONYM OF Essential
(A) Hidden
(8) Obvious
(C) Vital
(D) Trivial

Answer: C
45. SYNONYM OF Prophylactic
(A) Antagonistic
(B) Toxic
(C) Preventive
(D) Purgative

Answer: C
46. Select the correct passive from given
sentence.

I spotted this clock in a junk shop.

(A) This clock was spotted by me in a junk
shop.

(B) This clock has spotted me in a junk
shop.

(C) This clock has been spotted by me in a
junk shop.

(D) A junk shop was spotted in this clock
by me.

Answer: A
47. Select the INCORRECTLY spelt word.
(A) Depressed
(B) Vivedly
(C) Piety
(D) Sovereignty

Answer: B
48. Select the INCORRECTLY spelt word.
(A) Temparary
(B) Interfere
(C) Accustomed
(D) Fragrance

Answer: A
49. Allthe applicants............... and the results will

be announced next week.

(A) rank

(B) are to rank

(Q) are to be rannked
(D) are ranking

Answer: C
50. Hewas......... accept the grudgingly given
invitation.

(A) Not

(B) enough sensible to

(C) sensible enogh not to
(D) sensible enough to not

Answer: C
51. TEh e & $HP BIE o id A 156 cm 7 |
Ife 160 cm 39T TS dTel 5 BT 998 ¥ e 8 €,
g & il Bt @1 3Nd Sars # 0.8 cm @1 gfg Bl ¥ | I
H | H fpas v 97

(A) 20 (B) 10
(C) 25 (D) 15

Answer: A
52. S =fdd 2 9uf & forw Rs.500, 5 auf & forw
Rs.600 dorm 6 auf & forg RS.1000 T bl AR &ToT &)

A &R R ST bRl & | A a8 et RS.1000 1 ATeRor &rst
T

HRAT ©, 1 Ui 99 =TS BT X fbe=r 87
(A) 15%  (B) 5%

(C) 10% (D) 20%

Answer: C
53. & o & eifdd 9o iR 15% &1 82 <71 & 915, 3
Rs.425 ¥ d=m 71 | Ife &e 78l 41 S, ar 25% o 81 | 9%
o1 &9 g3 (Rs.H) Fd ¥ |

(A) 500 (B) 450(C)400 (D) 325

Answer: C
54. gfg 3s 3HHT 1 &A1 789x531y,

TEqr 72 ¥ fastsw &, ar (5x - 3y) FT AW
g19:

(A) 0 (B) -1
c 1 (D) 2



Answer: b

55. A &Y 3M¥ B & 31T & 60% IAF &
3t C #r 3w A 3k B Y T 3T F 45%
FH g aY C Fr 3 A i 317 § Faa ufdea
FH 87

(A) 11.225 (B) 11.88
(C) 10.625 (D) 10.5
Answer: C

56. TP SHMER U A R o 59 UPHR 3 dbral
2 % 20% &1 921 <71 & 918, 98 25% o HAET & | IS 9%
®T dFTd 4ed R$.560 &, a1 97 sifdd g (RS. #) =
BIT?

(A) 914 (B) 856
(C) 875 (D) 765
Answer: C
57. g a®+b3=353Tab=68% da+b
FT AT FATE?
(A) 5
(B) 8
(C) 2
(D) -8
Answer: A
2 1 3, 1
x*+==7 x° + —
58. Jfg x? g ar x3
AT AT Y, &t >0 |
(A) 12
(B) 15
(c) 16
(D) 18
Answer: d

5. g¥a+b+c=93Rab+bc+ca=
22 & ar a® + b®+ ¢ - 3abc &1 AT AT
E 11y

(A) 783 (B) 1571
(C) 487 (D) 1323

Answer: D

60. U 7T UTH &1 aemdT BN SR A QU MU gy @
IR |

s af # fredft 3w =1 amama oy Prafa @ds e )

« mgra . Fafa
0 ) = 450 as50
ad
gfe ur=i guf & 29 & AT | R sfidbe b fore urs are uR

o ST &, AT 2015 ¥ AT BT iU B arel & (sector)
BT Hard Ho7 (G #) ——— B

(A) 75.6 (B) 73.8
(¢ 59.4 (p) 70.2

Answer: b

61. fr=ifhd IR TTH BT NeTIT B 3R ST 915 QU
T I3 BT SR < |

BIs dite Fb du A9 A= Foiar A, B 3R C & 9
BT SATEH BRAT 8 | IR TTH, 2010 I 2014 Th BT UTF IY BT afey
H Al FoldR & UAY BT IATe <A 2 |

gig af # Hu garT fhy v A9 fafis delar A, B 3R C
@ U BT IATGH (g §icdel #)

R R
8
is
A
Riim
=T

90
80
70
60
50
40
30
20
10

0

TG (T draa H)

2010 2011 2012 2013

7 3 1 o a9 & I, Tefar C & Wew H St ¥ glg &l
gfererd, o+ fee a9 @1 Jorm # sifframan 87?

(A) 2014 (8) 2011
(©) 2012 (D) 2013

Answer: C
62. &) TS AIMBT BT 3eTIT BN 3R YT BT IR ¢ |




2018 & Ugel BE el & G A, B, C, D 3R E SoRl garT 921

TS BRI B =T | Answer: D
66- RIS
EHEIECHIRECHIEEREL S 2 . 2p :
\ ) ¥ 3co0s?6 — 4sinf+1=0,0°< 6 < 90°
SlelX —
?'Fﬁtanﬂ+secf5'—: o
A 620 640 628 | 635 430 625
B 600 642 635 | 580 450 620 /3 /3
3 3
C 640 635 640 | 540 625 | 740 (A) 2 (B) 3
520 | 645 | 722 | 740 600 [ 780 V5 o) 25
F 548 638 720 | 740 650 800
Ife Jarg 2018 H, SR D aRT BRI ®I fdp! I+ yfererd & Answer: C
ga1 &, 1A= 5 2018 H fUwel HEIM o1 ot | gl ofl, a1 Jeirs ' 1
2018 ¥ SR D gaRT 91 T BRI BT HeAT fdheil ge AABC N
67. ¥ B @ &, afe cot A = 2 & ar
sin A (cosC+cosd)a) 1014
cos C (sin C—sinﬂzg)% 975 .y
(A) -3 (D) 1028) 2
(C) -2 (D) 3
Answer:  a . . 3 & 2 Answer: A
2 2 T2 8.3 68. G x = 4cosA + 5sinA 3R y = 4sinA
63?; (;8+2°f ) = ( ol - 5cosA &1, df x? + y? &7 & AT fifew
.2 (A) 16 (B) 25
of ¥*) FT AT Ia$y © 0 0) 41
2 7
10 E 16 E Answer: d
(A) (B) 69.  Height of right circular cylinder is 16 cm.
~ s If the diameter of its base is 3.5 cm, then what
2 — - will be the volume of the cylinder?
o4 a8
© () 8 (A)  308cm? (8) 616 cm®
(C) 176 cm® (D) 154 cm’
Answer: B .
64.  uf2 g X 72 km/h @) et & T 2, A 78 Answer: D

3O T I WR 15 e @ <& | ugad ¥ | agafy, afe u
90 km/h @& =7el & Frefcll 8, @5 37U+ T I R ddd 5 e
B T W U B A T B BT wE 9w (e #) a
R |

(A) 40 (B) 32
(C) 45 (D) 35
Answer: D

65. A US M PI6 T H R IR AHh & 3R B I dH
BT 12 o7 § -1 &R Faal 7 | 3R I S TS 1T B IR B,

a1 59 BM BT fba faT # @ 1 R urga?
1
(A) 3 (8) 42
© 5 (D) 4

70.  13cm BSAT 9@ TF ged A TH S,

% & 5cm A gt W 3| Sfar A d«E F74T 872
(A)20 (B)24 (C) 12 (D) 18

Answer: B

71. '&ABCﬁ,ABsﬁ?BCWW:ﬁgDaﬁ?EW
yeR & f DE, AC & wa+iR = | afe DE=3cm, AC=5
cm iR wHels aqdst ACED @1 &awet = 32 cm? &,

ABDE BT STHA A BN |
(A) 18 cm?
48 2

@) ? cm



144 2
? cm
(C)

(D) 16 cm?

Answer: A

72. fd A A # O, G, 1 3R H
HAT: iy, Figw, T: Fg 3R dadg B 35
¥ Fi9-8 g wFaae 32

(A) &ae O, G 3R H

B O, G, I3RH

() Faea O 3R |
(D) %aad O 3T G
Answer: B

73.  ABCD T wehig uqdse 8, forashr e
AD 3R BC g Tdig P ¥ fferclr & 31 o= AB
3R DC et fdg Q W fAer &) 3R

/A= 62° FUTLABC =

T4 E R AN LQFTTTANE:
8] 8]
(A) 44 (B) 32
o] o]
() 23 (D) 38
Answer: b

74. 99 &@fSY 6 X, 25.6 3R 32.4 &1 Feargunh 2 iR
Y, 32 7d 48 @1 efrargurh 2 |

Answer: B
75. fee @ Al a1y iR gy T argurd 17 114 € |
Sa@! 7RIS g9 Rs.12,000 g | afe S@! Atkid oy #

Rs.10,000 @ gfg &1t & ok =3 % Rs.2,000 &1 &+ &l &,
AT D! MM SR @ BT AT IUT Tl X |

(A) 13:8 (B) 11:9
() 13:9 (D) 11:7

Answer: C

76. PAREN FT AT FT AT T § ?

(A) dsfHes (B) eraeT
(c) 2" (D) edrar

9

Answer: b
77. ¥Rd &1 UgdT fAd 9T FTd I T

5 U # v fFar smeem 2

(A)  weAreH (B) affter ag
(c) 3nfea (D) &

Answer: a

78. &« & A wuT H W AR & Fl gaAfaa
aErE ?

(A) a3 g - @R

(B) gar Aar - WA

(C) el ﬁ§ Y LIEC R A

(D) e - &
Answer: C

79. @ € # giEw & @1 gaan s R
ANfad s o1 a7 & =T I§ B I A
Rya ¢ 2

(A) AW (B) U=NTG
LERCTS

(C) SFH-FHAR (D)

Answer: b

80. 3Ife frdy U=T & AU ASST H doic R
AT g, dar

(A) Faer o 7 @ fAefaa & fGar arar &
(B) Gefia faa & o1 Fafea & fear sar &

() HEar AN A #AA aRwe, & T 97 o
EECIN

(D) GERT AT & 3 fow ey &
Answer: C

81. #Rd & Isgufd & FFa-y H AT i@d
H & PIA-AT YT el g7

(A) T TH IATd & YRIATd I FHIE
JUH TF I FAAT FT &l

(B) YUA® Y & IRFH H TG & JIH
9 H GO L &l

(C) TIE & TcAdh TF Hl FEiTdd X gl

(D) TIG I HAHT AT Tai Hid |



82.

83.

Answer: A

5T T & GaQ el diel &7 87
(A) Y 9SG (B) HENISC
(C) IeRIT (D)  ShelTcahT
Answer: C

e ATe] WIAT R EHRT Td TR

TorEg ¥ 370 &), ar a1 =afa gely ?

84.

(A) HTeT §olc
(B) YT MR ol

(C) fasarest 3maRa sere
(D) 3TN §ole

Answer: A
Uolld & 987 &7 H 3TCad g7 g,

SAH STl gl ATl 87

85.

86.

e?

87.

(A) A dAGr (B)  AAE AT

() SO A (D) sl Adr

Answer: D
T H EAA-RUT T T TSl T §7?

(A) qYeh ded o ST
(B)  HHHAUT ¥ THY T
(C) AT o S
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